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1. When the forward calculation isa single summation
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Here there is one summation and one output.

Adjoint calculation
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Now there are no summations and many outputs (i.e. different k).

2. When theforward calculation is a double summation
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Here there are two summations and one output.
Adjoint calculation
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Now there is one summation and many outputs (i.e. different k’). It isimportant to
distinguish between k and k’. The above can be written as,
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Thisresult isfound to pass the adjoint test,

(OV, OV) = (O'OV, V).



